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Question Number : 1 Question Id : 3354725231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When is th%i ‘National Technology Day’ celebrated in India every year? | Wodd o8 AT # TF A Wi o @
HATIT -TdT &

Options:

1. % 19th July | 19 =5

2 ¥ 11th May | 11 7%

3. # 1st Decermnber | 1 famrr
4. % 26th February | 29 Tair

Question Number : 2 Question Id : 3354725232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The most important and sacred river island in Madhva Fradesh is ______ | HeOmEar o Herd eVl & ol Aol

Options:
1. ® Kalbhairava | #ead

2 ¢ Orkareshwar | i@y
% % Wainganga | AT
4. % Nauradehi | ARTdET

Question Number : 3 Question Id : 3354725233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The fort in which of the following cities is known as 'Gibralter of India'? | FE@ARET a5t # & &9 91 e '9a &
FAeTeet & A0 & 7 A719T7 27

Options:
1. ® Indore [ 22X

2 % Khajuraho | SR1gT
= ¢ Gumalior | TR
4. % Ujjain | =

Question Number : 4 Question Id : 3354725234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following buildings in Madhya Pradesh has won the Aga Khan Award for Architecture? | Her
weer # ey sART | # & fore arega @ oI s | qeew R ST

Options:

1. # Shaurva Smarak | &M TARE

2. % Yallabh Bhawan | Jee 9o

Z. ¥ Vidhan Bhavan | f&emT waq

4, % Taj-ul-Masajid | IF-IA-AETE

Question Number : 5 Question Id : 3354725235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The -:}rigin and path of the mightar ancient river Saraswatl was traced using the satellite Landsat, Where was
;I%s river fo%d in India? | Wee Wi Al T¥Ead | 7 IgH T AT AEde JUUE & J0A T Far 0T AT 4T 9 ART § 98
CIAREIENE
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Options:

1. ®¥ Maharashtra | JeWTE

2 % Kashrrir | #HR

2. ¥ Rajasthan | eI

4. % Assam | ey

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 6 Question Id : 3354725236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was Gandhiji born? | Tt &1 A @yl e 417
Options:

1. % wardha | ==t

2. % Rajkot | TF@

3. # Gandhi Nagar | e

4 % Porbandar | UNEET

Question Number : 7 Question Id : 3354725237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the lor?gest river flowing entirely from source to ruouth within India? | 9T @& diFe FiF & g5 & gier &
A5 ATAT Fad Fall A5] @i |l 57

Options:

1. ¥ Narmada | 98T

2. % Tapti | 9T

2. % Krishna | Fwom

4 % Godavari | MEEd

Question Number : 8 Question Id : 3354725238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhich one of the following government schermes has been launched with an aim to achieve convergence of
investments in irrigation at the field level, expand cultivable area and improve the on-farm water use

efficienncy? | 8= &3¢ W W=me § THeher & STiaer &1 uig @, ST 9 89 @7 aea e o o 59§ uet & Jueni & e o
R A & To90 & ety e demert # & 397 & g% &1 g &7

Options:

1. PMESY | TTASTEE
2. % PMVLE | HiUHeigAd
% % PM]JEY | UTTH=rllaTs
4. % PMEVY | diOAd s

Question Number : 9 Question Id : 3354725239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Internaticnal Non-Violence Day’ is celebrated on _____________ of every year. | 'STTRIET Sigar e, Waaw a8
T AT AT 51

Options:
1. % 2nd COctober | 2 ST
2. % 3rd October | 3 SFEaT

3. % Gth October | 6 S/EaT
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4. % 7th October | 7 TFgaR

Question Number : 10 Question Id : 3354725240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Right to Freedom is guaranteed in which one of the following Articles? | THaieiad srfzial # & forad wee=ad1 &
SR &1 THET 27

Options:
1. % 17
2. ¥ 19
z %18
4 % 41

Question Number : 11 Question Id : 3354725241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which sport item does Vikas Gowda represent India? | 7T 97 # Sama MeT vRT &1 Aid=ieeg #d 57

Options:

1. % Javelin Throw | ATAT el
2. % Long Jurnp | @&l $g

3. ¥ Discus Throw | TEewa ar
4, % High jump | =T g0

Question Number : 12 Question Id : 3354725242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Shanthi Swarup Bhatnagar awards are given for
|

Options:

E1*?.r j;;xploring new dimensions in creative writing in Indian languages | ARG vy # @HeAE @@ | A7 W

= outstanding contribution to science | EEIE R arqe 7 M-

3. ¥ Creating awareness on environmental issues | TR & Jg1 0T ATEmd T Gal H]
4. # excellence in music | T H Io@Ear

Question Number : 13 Question Id : 3354725243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
%u jarat is noted for the cultivation of which of the following? | T=RTT ®1 Fgiaiad § & g & @t & o S <

Options:

1. % Sugarcane | g
2 % Jute | 5%

3. % Wheat | g
4 Cottorl | U

Question Number : 14 Question Id : 3354725244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The Naticnal Pension Scheme (MPS) is regulated by | TR e AT (O g AT g

I
Options:

1. % [RDA| STESTRSIT (ZE2T)
2. ¥ PFRDA | TIHRRET
3. % TRAI | STaTRUaTs (219
4, % EPF | 2w

Question Number : 15 Question Id : 3354725245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whose mausolewr (tormb) is Gol Gurnbaz? | e T AT (@) Tra®T 27

Options:

1. ¢ Muharmrmad Adil Shah | GgFAg HTeA 78

2. % Hyder Ali | 32¢ ardl

Z. % yusuf Ali Khan Salar Jung | Jg% 36T @9 G AT

4. % Muhammad Quli Quitab Shah | HEFE Feil Faa a0

Question Number : 16 Question Id : 3354725246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sehore is situated at the confluence of rivers | HiER et

Options:

1. # Betwa and Sone | sdar s a4

2. ¥ Siwan and Latia | @a T Atar

3. % Kali Sindh and Latia | FTet 16 o @idar

4 % Siwan and Betwa | 9iam &€ 2Far

Question Number : 17 Question Id : 3354725247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the king who founded the city of Panna. | 38 TFT &7 910 @910, FE- Og7 957 & T20T &0

Options:

1. #¥ Madhukar Shah MNaresh | T g A0
2. % Rajakarna Dahriva | ¥T=1 @0 giear

= ¥ Maharaja Chhatrasal | AgETET 5367

4. % Lala Hardaul | TAT geard

Question Number : 18 Question Id : 3354725248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Hindola Mahal situated? | Be &1 A5 @51 97 27

Options:

1. ® Orchha | #RET
2 ¥ Mandu | ATE

= ® Datiya | Sidar
4 % Shivpuri | TdEger
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Question Number : 19 Question Id : 3354725249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Ater Fort in the ravines of Chambal was constructed by the ______ | e T H SR FRCIEEE

ICEIRIE B

Options:

1. % Tormar | 8T

2. ¥ Bhadorivas | ¥2ir
% % Chandellas | @=2d
4. % Chouhan | ZEH

Question Number : 20 Question Id : 3354725250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is not related to the Buddha? | 75 § § &9 &7 og ¥ Gai9d 751 27

Options:
1. % Bodh Gavya | =g mar
2 % Kushinagar | g

3. % Lurmbini | Fai

4 % Ranchi | TR=IT

General Maths and General Aptitude

Section Id : 335472124

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472124
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the missing nurnber in the sequence: | %9 H {97 9947 991B1;

11, 28, 1&, 80, 21, 72, 7
Options:
1. % 28
2 ¥ 26
3. % B4
4 % cg
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Question Number : 22 Question Id : 3354725252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

& certain nurnber of men cornplete a job in 60 days. With 8 more men, the job will be cormnpleted in 10 days
less. How rmany rmen were there initially? | &1 & U T @, g @ 1 60 Rt # qur aed T 81 8 79 ge0l &
|, w10 w9 Tt f g quf g1 S vy f qeut & awa feaer ot

Options:
1.9 40
2. % 50
3% 20
4 % 2B

Question Number : 23 Question Id : 3354725253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The rermainder when 2048 x 2096 x 8907 x 7456 is divided by 5is___. [ 99 2048 x 2096 x 8907 x 7456 ®1 5
# T e =T & 97 S

Options:
1. % 4
2 %3
3. %2
4 ¥ 1

Question Number : 24 Question Id : 3354725254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 4x® 4 2x% + ax + 1 is exactly divisible by 2x + 1, then the value of a is E Iy

4x° 4+ 2x%+ax+1l, x+1 AP AT Edda AT &l

Options:

B ] =

-1
=
2 ®

3.¢¥2
4 % -2

Question Number : 25 Question Id : 3354725255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If (5 = 5%2, thenx =?/3f¢ (5)¢=52,aT x=?
Options:
1. % 3
= %12
3. ¥ 3
4. %9
26th Decl17 Shift 1
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Question Number : 26 Question Id : 3354725256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the sum of a certain number of consecutive odd nurmbers starting with 1 is 5184, then how many odd

niurnbers have beer added? | 9f 1 & & g4 TRl AER 9w Gt #1 T sgararam S184 g, af IGLE

Options:
1. ¥ 72
2. % 78
3% B2
4 % g8

Question Number : 27 Question Id : 3354725257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | &g e
L2, 7=, 27, 42, 1&

Options:
1. % 41
2. W 42
3. % 43
4 % 44

Question Number : 28 Question Id : 3354725258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of Kala's age to Mala's age is 3.4, respectively. If 2 vears ago their average age was 12 years, then
how old was Kala 4 years ago? | ®ell @l 571 &1 HIeT TSI H SUTd A 3:4 51 I 2 o9 Uge, Eﬂfﬁﬁgﬂﬁm 12 a9
off, T 4 T Uget FHAT b1 AT T e

Options:
1. % 12
2 % 16
SR
4 % 10

Question Number : 29 Question Id : 3354725259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A rectangular box has integer side lengths in the ratio 1 : 3 : 4. Which of the following could be the volurme of

the box? | UF HEATER [See &1 qUN® 7 drameai 10 3 0 4 & arqud # 21 9 | & T2t 7 o a7 5f 9aaT 27
Options:
1. % 48

2. % 56
3 % 64
4 9 96

Question Number : 30 Question Id : 3354725260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The product and LCM of two nurmbers are 84 aqd 12, respectively. Find the HCF of two numbers. | o wETat o
TUH &% FEad TS 7 F A 84 &M 12 §) SHT Sel! 7 Hgad THTIdd & J1d ®

Options:
1. %8
2. % 4
3% 3
4 & 7

Question Number : 31 Question Id : 3354725261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There were 20 more orarnges in basket & than basket B. If Arun transferred 50 oranges fromE to &, then &
had three times as many oranges as B. The number of cranges in B originally is | ST A HEFTTE#

%ﬂﬂ%&ﬁfﬁ@] AN E & A U S0 Ga¥f B I 21, T & & G E & Jo=T Eﬁ:rgmﬂai‘s‘rw TR B ZiaTE o
T

Options:
1. % 220

2. % 110
3. % 200
4 % 100

Question Number : 32 Question Id : 3354725262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& can do a piece of work in 10 days and E in 15 days. How long will they take together to finish the work, | 4
TF wE @ 10 Tt # F Awar § @R E 9T e &1 15 %ﬁwm% ST ST TR ek |1 HH Fd ¢ a1 Ieg Tk AT
qAT :

Options:
1. %9
2. v B
3% 12
4 % 25

Question Number : 33 Question Id : 3354725263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If & is taller than E, C is shorter than E, and D is shorter than &, but taller than C, then who among themn is the

shortest? | Iic A, ER AT a1 C, EFARTAI D, A §ARTE, WC AT 2 97 R § & Hae AT #1427
Options:
1. %D
2 ¥
3 % E
4 % 4

Question Number : 34 Question Id : 3354725264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the sum of 100 terms of the series 1- 2 +3-44+5-6+ 7 (40 1-24+3-4+5-6+  F 100 03f
T Pl AT T 57

Options:

26th Dec17 Shift 1
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1. % 100
2 % 50
3. ¥ 50
4. ¥ None of the above | 598 & F1E 751

Question Number : 35 Question Id : 3354725265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the curved surface area of a cylindrical body is 660 sq. cm when its radius is 7 crm, then what is the height
of the cylindrical body? | aﬁwamwﬁwmmafﬁaq%am GE0 T HAT B, Tl I =T 7 |AT B, T AT
Toierrer 1 =g forait 87

Options:
1. % 12cm 12 |

i
= ® 13¢cm | 13 90T
T % 1dcm | 14 96T
4 % 15cm | 15 96T

Question Number : 36 Question Id : 3354725266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Divide 3x3y 4+ 9x2y2+27xy by 3xy. / 3x3y 4+ 9x%y227xy &I 3xy IR fasnfaa &1

Options:

1 x2+3xy+9
x* +xy +9y

2 % Z2y+xy+9

- iy +3xy+9

Question Number : 37 Question Id : 3354725267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

| | II e e
|1EI+ [25 +“u| 108+ /154 ++/225 =7
N
N

Options:
1.9 4
> % B
3 0% 11
4 % 13

Question Number : 38 Question Id : 3354725268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
01z*12-00012 =7
Options:
1.%0
2. % 10
3. ¥ 1 4388
4 % 1 439356

Question Number : 39 Question Id : 3354725269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The price of & chairs and 2 tables is Es. 1350, If two chairs cost as much as one table, then what is the total

rice of one chair and one takle? | & ST 2 BT T AAT 1350 T R AT ST Fiaal @ AT T B o sRTEK gia
ﬁwﬁﬁwﬁqfﬁgﬁﬁﬁmwg

Options:

1. % Rs 450 | 450 &0
2. % Rs 350 [ 250 0
2. % Rs 500 [ 500 &g
4 % Rs 550 [ 550 &7

Question Number : 40 Question Id : 3354725270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio between the present ages of Sudhir and Madan is 4:5, respectively. If, after five vears, the ratio of
their ages becomes 5:6, then what is the present age of Sudhir? | i€ oK HSA @l THA 1Y o &l BT ST FHT
4:5 21 Tl U T TG ST ST W SO 56 5 AT 5, 9 GeiT B ad AW ey 4T 87

Options:

1. ® 18 years| 15 79

2. ¥ 20 vears| 20 @9

3 % 22 vyears| 22T

4 % 21 years| 21 @9

Cereral Hindi

Section Id : 335472125

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472125
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3354725271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o & TR At e -
Options:

1. %0

2 %7

3. % 9

4 ¥ 7

Question Number : 42 Question Id : 3354725272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A war_ L

Options:

1. % ggF stom
2. % T sdtear
3. ® Znq =
4. ® o s

Question Number : 43 Question Id : 3354725273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Ao | SATEE W 0T 87
Options:

1. % g

2 ® T

3 % I

4 & FigAT

Question Number : 44 Question Id : 3354725274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B STTHRT ST ___ 7l

Options:

1. % apit
2 % e
3. ST
4. ® TR

Question Number : 45 Question Id : 3354725275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

et ey my e o v T e o e -
HE T TCEE T GHET o FE]

Options:
1. % 6v
2 ¥ ar
3. % gE
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4 %

Question Number : 46 Question Id : 3354725276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T O T W I | e
Options:

1. v zm

2. % oo

3. % e

4 ® 9q

Question Number : 47 Question Id : 3354725277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ty aR A R T AeE S F R T e tm A dam
Options:

1. arfafer

2. ® fafeatdr

3. ® ATUEA
4. ® 1A

Question Number : 48 Question Id : 3354725278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ty =T | g Fg A g @ Arge
Options:

1. % T + gar

o ® T+ T

3. ¥ e + 3

4 % fifc + g

Question Number : 49 Question Id : 3354725279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“TART BT g FE H g e AT g
Options:

1. % mgar+57

Question Number : 50 Question Id : 3354725280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T H A g g H W A ge
Options:

1. % ghix

o ® miw
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= o O
4. # e

Question Number : 51 Question Id : 3354725281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘M WA /BT deg Mg H F @ 87

Options:

1. % s
2. % A
3. ¥ Z=aT

4. % T

Question Number : 52 Question Id : 3354725282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
efenf see # g o & @ 6T 9A 27

Options:

1. % Jcqey 9ug
2 % fmrEEE

3. % FHAT W
4  gg aAE

Question Number : 53 Question Id : 3354725283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT AT Gerat @ anf Mg A E Fm ar e

Options:

1. % ST FAT

2. ¥ FEg W FE
3. ® T TF AT FAT
4 % 7R o

Question Number : 54 Question Id : 3354725284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FAT BT G T 9 0 F R @17

Options:

1. % sgifey
2. ® gt
3. v Ty
4 % wiiy

Question Number : 55 Question Id : 3354725285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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ardt T T 217 ART
T A 51 geal & g
ﬂﬁqﬁWﬁTEﬁﬂ
wﬁ%ﬂqﬁﬁﬁﬁaﬁ?mm@

Options:

1. ¥ g T

2 % g

. % FwTm

4. % ik

Question Number : 56 Question Id : 3354725286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"TEd S W dE

FatTar mmmlﬂ%(ﬂﬁr CET R T
Options:

1. ¥ i a@an

2. % 2T AT

3. ¥ JUAT SFET

4 R IOw AEEN

Question Number : 57 Question Id : 3354725287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FT WA TTAT Uiy &7 21 & -

Options:
1. & oam, =R, EXE, e
2 ® gdd, T, s,

] fut . Fact
4. ¥ FId, UEd, ’EEEe, gEHar

Question Number : 58 Question Id : 3354725288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STET a0 T ST o T 1 #iad ey §AT | 5T F I A AT G
Options:

1. ® I sl

2 ¥ U SAET

2 ® JUAT AEET

4 % arfdaeii aEwT

Question Number : 59 Question Id : 3354725289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e o o Wodw TR0 H 28 WA BidT o L6dT qur 12w A ot aid g E - Sewnd § -
Options:

1. % T

2. % Iedg
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=, « glafifdesr
4 % tiifder

Question Number : 60 Question Id : 3354725290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:
1. % 24
2. % st
2 ® Hege
4. & mreEt
Fural Economy and Panchavati Eaj
Section Id : 335472126
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472126
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The National Agricultural Market launched in 2016isa ______ | 2016 ¥ g& & 9o Tihe=rte Hihe U _______
Options:

1. % Electronic trading portal for agricultural commodities | W Ieaef & 77 sede! @ SET e

o ® APMC | TdiTHEt

% % MNational Market for Farm Produce in New Delhi | 712 el § &0 Je07e & 600 T8 I

4 % MNone of the above | IWigd # & #1551

Question Number : 62 Question Id : 3354725292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following does NOT corme under priority construction works undertaken by Gram Fanchayat ? |

TERET # & B9 I v e e T et W] o ST AR AT 87
Options:

1. % Theatre | ST=ZTTHT

2. % School building | EemaT wa=

= # Drains | ATieET
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4. % Culverts | gierm

Question Number : 63 Question Id : 3354725293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Inn Madhya Pradesh , an NGO named _________ has been introduced to mobilize and promote th%ga%%ati@n

of wormen at Panchavat levels? | Aed naa ¥, T=ITa €€ 0T AigaTeil i AiianT &1 Siiad @ &Y ag1ar
_________ AT eF TR—STeR T AT1E 1 WEgd [oaT T &l

Options:
1. % Samavesh | GHTET

= ® Sagar | 9T

2. % Ekalavva | Tdholcd
4 % Pratham | ™IH

Question Number : 64 Question Id : 3354725294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following was NOT a cornpany associated with contract farming in Madhya Pradesh? | Az uda d
ﬁﬂﬁﬁﬁﬂﬁﬁﬁ@tﬁ&ﬂﬂﬂéﬁﬁﬂgﬁqﬁeﬂ?

Options:
1. ® Hindustan Lever Ltd | gea st o,

2 % [CIC] Bank | WTSHSTEETE g
= ¥ Infosys | TBITET
4 % Rallis India Ltd. | ¥ sizar o

Question Number : 65 Question Id : 3354725295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jawaharlal Mehru Krishi Vishwavidvalaya is located at ; | FaTgtATd S5 B [Sealceead fgl w0 5 7

Options:
1. # Bhopal | \iTe
2. % Indore | 2310

3. ¥ Jabalpur | SEegY
4 # Gwalior | ARIEET

Question Number : 66 Question Id : 3354725296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ireen Revolution refers to increase in production in

w1 7

Options:

1. % poultry | i e
2 % Edible cils | Grr @l
3. % Fisheries | A UTel—
4. ¥ Agriculture | FH

_____ &:ﬁfﬁ ERCIGT ﬁﬁ[@'fﬂ Il

Question Number : 67 Question Id : 3354725297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Where is National Institute of Rural Development and Panchavati Baj located? | S99 & 5¢¢|¢q¢: 3TF & SarTHe

TS U= | ¥ Syl 62 57
Options:

1. % Hyderabad | §et@RE
2. % Delhi | el

3. % Bhopal | #UT&A

4. % Patna | 0241

Question Number : 68 Question Id : 3354725298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year did the Madhya Fradesh Fanchayat Eaj Avarn Gram Swaraj Adhinivam receive the assent of the
Governor? | e ad o weauaaT UeTad T T 0T waene o TFUTe ol

Options:

1.9 1994
2. % 1991
2% 1993

4 % 1990

Question Number : 69 Question Id : 3354725299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

After the recormrmnendations of the Balwantral Mehta COI‘I‘JI‘HlttEE Panchayan REU was first 1I'1ELL1 urated in
Rajasthag:_m 1959 by ;| FAGaCrT HedT FHeT & FpTied o & &g, 1959 H vre= | ugal oW T T BT
Gl ﬁ?ﬂ 4T

Options:

1. ¥ LFshukla | ga.d%. g&Fam

2 ¢ Jawaharlal Nehru | SETetdTd S5&
Z % CKDey | ®l#HE

4 % Sardar Vallabbhai Patel | T2 deaddqTE Tod

Question Number : 70 Question Id : 3354725300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per NS5O, in 2011-12, the share of Agriculture in employment at the national level was approximately

________ percentage | TATATENT & AW, 2011-12 H T €% 0 TFTC § FT0 FT AT
Options:
1. v 49

2. % 59
3% 39
4. * 69

Question Number : 71 Question Id : 3354725301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The practice of growing dissirmilar Crops in the same area in sequenced seasons is called: | SrI#HT GaT § G0

& | T WEAT & ST P S BT AE1 6
Options:
1. # Internal Control Systern | TN 2= momet

2. % Intercrop | a9 B
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=, ¢ Crop Rotation | HEd dEd-
4. % Crop Diversification | waa e

Question Number : 72 Question Id : 3354725302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the Singhvi Comrnittee constituted for recormmendation for improvernent in the Panchayati Raj

systern? | WITa T T WOTET H T F R 3 o et atei e niaT & g ot
Options:

1. % 1959

=z ¥ 1926

3. % 1988

4. % 1977

Question Number : 73 Question Id : 3354725303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which scheme aimed to Change the negative fElI'ﬂil}.F and corurunity attitudes towards the girl child at birth'? |

o TT T F249 -0 o G & id Oia 3T AETT & TENIcH® cOag @1 gl 57
Options:

1. % Ujjawala | F=del

2. % Ealika Sarmridhi Yojana | T T8 kg DT

3. % Sukanya Samriddhi Yojana | g THRE T

4. % Kishori Shakti Yojana | Treier e =mr

Question Number : 74 Question Id : 3354725304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Kufri Badshah & Kufri Chandramukhi are the varieties of which of the following crops in Madhvya Pradesh? |

Tl U | AT SGATE Ud Fbdl oaga! aiieiad § & g wae & warida 87

Options:
1. % Potato | 19

2. % Sovabean | AETEE
= % Wheat | T
4. % Tomato | TAET

Question Number : 75 Question Id : 3354725305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhva Pradesh Eural Livelihood Programome is implermnented in active consultation with ___________. | HET
T AT TITHTOT STt fierenT deierd ___________ T T S wows) # wreiied e ma g
Options:

1. % Panchayati Faj Institution Representatives | T2 T 16 ST & Wi T=Tsr
2. % Emplovment Exchanges | TR o

% % Agriculture Secretariat | T AT

4 % Youth Ernployrment Officer | @7 TR SITERRRT

Question Number : 76 Question Id : 3354725306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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‘Medh Par Ped’ is an initiative in ; | “HE WIE UF 150 &
Options:

1. ® Timber industry | o€ F=I07

2. % Furniture industry | Ba=E JEMT

= # Horticulture | ===

4, % Agro Forestry | TUT aTi—eeT

Question Number : 77 Question Id : 3354725307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the percentage of priority sector lending to agriculture stipulated for scheduled cormmercial banks by

HR%SEfveE%;lkofIndia?jﬂm of T BT ST T2 sl o o] Treriied Py &= o UreiiaraT ot &4 & J07 37
1 T

Options:
1. %5
o %3
3 %12
4 9 18

Question Number : 78 Question Id : 3354725308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr miiany sriart villages are targeted to be developad under Saansad Adarsh Gram Yojana by 20197 | 2019

T A6 T U9 AT F 959 TATE Tt T T T A 27
Options:

1. % 5000

2. % 4500

3. % 3500

4. ¥ 2500

Question Number : 79 Question Id : 3354725309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Barefoot Technician’ under MGNREGS is a person who ______ | TR O AT SRR e A a9 o g

Options:
1. ® walks through villages without any footwear | Tt § 971 0T gHIT &
2 % gells footwear to beneficiaries under the scheme | JSHT & AT B FaT-200H ST &

2. ¥ is trained in civil Iengineerina%conce t5 and who 15 involved in g;anning and supervising works under the

schermne | TiEw S=T==aT sraamomst & T 3T =0 AT % 95T w1 o T S uefda # aniier
4 % makes people in the village wallk without footwear | @I ®T T § 917 0 qAET 2

Question Number : 80 Question Id : 3354725310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which state is the first to use the automated weather stations for farmers? | TraHT @ T To=ield HEH 9=t @7
FURTT B AT Halel TR el T &0 67 27

Options:
1. ¥ Maharashtra [ AgEMET
2. % Madhya Pradesh | e g
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3. % Karnataka | ®ie®
4, % West Bengal | TRH @A

Cormputer Knowledge

Section Id : 335472127

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472127
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hardwsare cormnpornents that are used o enter data and instraction into a COrmputer is known as: | & gIEdaT

I Tt I U Frged § 21T 72T e uiee o & fa T et 8, o @ 2
Options:

1. ¢ Input device | EA7C EdEd

2 % Cutput device | STIEYE ZaEd

3. % Cornrmunication device | @ Ferae 12

4, % Storage device | TEiS fEamEd

Question Number : 82 Question Id : 3354725312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

___________ is the keyboard shortcut key for saving the docurment. | ________ &5 H1-a12 JTéhe gl g 1 STHgHT @l
o WS g e B

Options:

1. % CTEL+ &
2 % CTEL +F
2. ¥ CTEL + 5

4 % CTRL +C

Question Number : 83 Question Id : 3354725313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
___________ 15 the kevhboard shortcut key 10 italicize the selected text i the document. |

TS SiTéaE Groit & ot IR STarite # Hele T T SARTE 1 SEicl AT 3 TeT TR ST )
Options:
1. % CTEL+ A
= % CTRL+F
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3. ¥ CTREL +1
4 % CTRL+ WV

Question Number : 84 Question Id : 3354725314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Alan ___________ is a step by step procedure to solve a given problem. | U&F ________ &I TS FHEAT W5 H o
TRTelg, W 21

Options:

1. ¥ computer | FHYET

2. ¥ algorithm | UeTieEs

= % office | 7T

4. ® flowchart | FaAmEe

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 85 Question Id : 3354725315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ allow information to be organized in rows and tables and analyzed with automatic mathematics in

%%}:cel [ TATE A, AT T Ul % TiiverTsl # saatead s T sffe e femiea g g s

Options:

1. % Slides [ gz=d

2« Spreadsheets | gUzdE
3. ® Clipart | foomeme

4 ® References | ¥mied

Question Number : 86 Question Id : 3354725316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
______ are used to identify a user who returns to a website. |

TEETA o 1o SEd AT TR AT 8l

Options:

1. ® Flug-ins | Y&T-319

2 % Scripts | Tw e

3. ¥ Cookies | T

4. % Hyperlinks | gEWIHFT

T I Sl dI5e UE a1 3T alel I @1

Question Number : 87 Question Id : 3354725317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

1 Gigabyte i3 equal to: | 1 TS THE sN& 14T 2
Options:

1. % 1200 bytes | 1200 959

2. ¥ 1024 Mb | 1024 UHeT

3 % 1024 Kb | 1024

4. % 500 Mb | 500 TR

Question Number : 88 Question Id : 3354725318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

What function displays row data in a colurmn or colurmn data in a row in M5 Excel 20077 | TH Uedld 2007 |,
T T B Ut &7 STeT & FTcAH H T F1eA o ST &7 i § T idla FaT 57

Options:
1. ¥ Hyperlink | gEWiAE®
2 % Index | 2299

= ¥ Transpose | TTE0r
4 % Rows [ T

Question Number : 89 Question Id : 3354725319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which one of the following shortcut keys is used to E|griﬂt a document in M5-Word 20077 | TATH 92 ST9HT
2007 # T § & 219 o g @ & F1 STauhe e w0 @ o7 v T T 27

Options:

1. * Fn+F

2 % Alt +P
3.9 Ctrl + P

4. % Window + P

Question Number : 90 Question Id : 3354725320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an edition of M5 Word? | gaH & @1+ THUH o2 &7 U6 Geml 751 57

Options:

1. % M5 Word 2003 | TATE 92 2003
2. % M5 Word 2007 | TAUH I 2007
3 % MS Word 2010 | TAUR 2 2010

4. ¥ MS Word 2020 | THIE 2 2020

Question Number : 91 Question Id : 3354725321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which bar enables you to view the contents of the window that are currently out of view? | @19 €1 & ! =T
& I WHeT B ST H HyH ST § AT A A H GRTRER (3173 ST =) g 7

Options:

1. * Tool Bar | 3 &

2. % Scroll Bar | Gl W
3. % Menu Ear | B9
4. % Title Bar | TEcA X

Question Number : 92 Question Id : 3354725322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The shortcut key used to justify the selected text is: | Hotg T T THET HT TCCIETS (FATTHTT T8, TN FA o o7
T dMé e @l FT IUANT 2T 19T 7

Options:
1. % Ctri+l
2 ¥ Ctrl+]
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3% Ctrl4+U
4 % Ctrl+AlL+HE

Question Number : 93 Question Id : 3354725323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is used by the browser to connect to the location of the Internet resources? [ #T3C ZRT

EatAe AT & AR & Seide B o o] g foiidd | & e Su=T forar T 27
Options:
1. ¥ Linkers | foed

= ® Protocol | WiEETE
2. % Cable | e

4 ¥ URL | &IRIa

Question Number : 94 Question Id : 3354725324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FAM is located in: | RaM 3 a9 =9 g1 &
Options:
1. ® Extension board | TFaca g2

2 % External device | THFECAH Toagd
2. ¥ Mother board | AEX F12

4 # Interface card | sodhd T2

Question Number : 95 Question Id : 3354725325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mowing process frorm main mermory to disk is known as: | e gare & f2ew 9@ $1 g uiwT #gare’ &

Options:
1. % Scheduling | ST

2. % Catching | ¥F=m
3. ¥ Swmpping | FAOT
4 % spooling | FYET

Question Number : 96 Question Id : 3354725326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

rrect : 1 Wrong:
12311510; of the ?foglllo(zmng is an exarmnple of computer software? | THHATET § & F47 UF FHYILT QIFTco) BT IS5 a7
Options:
1. ® Impact printer | sqige Tt
= % Console | T
=, ¥ Payroll package | IR g
4 ® OCR | aetam

Question Number : 97 Question Id : 3354725327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A& person who used his or her expertise to gain access to other people’s computers to get information illegall

or do damage is a: | Tg st AT STHAT [EEadT T SHanT T ST €0 & FEA1 UTEE B 37 i uedq & & oy s
& T H U W FaT 5, e FgamT &
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Options:
1. % Spararmer | FHAT
2. ¥ Hacker | 397
Z. % Prograrmmer | WAL

4 % aAnalyst | TATGREE

Question Number : 98 Question Id : 3354725328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The brain of any computer systern is: | Trel FgT &7 gieawha g7 &;
Options:

1. ® Monitor [ BT

= % Mouse | ATIT

z. ¥ Central processing unit | Hge N e

4 % Speakers | AU

Question Number : 99 Question Id : 3354725329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Iri MS Excel 2007, t0 sort the text in ascending order we hawve to click o

ST F AT TR H oateag e Ffag Terret O 5 Taerer @eT
Options:

1.V At0Z JAHE

2 % oA ZHA

3 % HitoZ [HEZ

4 % Zt0X | ZHE

________ option. | THUE UFad 2007 |,

Question Number : 100 Question Id : 3354725330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
W stands for in WAN. | WAN # "W ____ % T3 U 5T 8l

Options:

1. % whole | g7
2. ¥ wide | 958
= % while | TEA
4. % yeb | o
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